7.7 Summative Answer Key
1. c.
2. $0.33 per can of soda

2 points:  Exemplary response; correct answer with label and appropriate process given

1 point:  Correct answer with label given, but incorrect process shown OR Incorrect  answer given, but correct process shown


0 points:  Incorrect answer and incorrect or no process shown

3. a car travelling 498 miles in 6 hours
2 points: Exemplary response; Correct work shown and correct answer given

1 point:  Correct work shown, but incorrect answer given OR incorrect or no work shown, but correct answer given

0 points:  No work shown and incorrect answer given

4.  Sample answer:  Yes, it graphs as a straight line.

2 points:  Exemplary response; correct answer and appropriate explanation given

1 point:  Correct answer, but no or illogical explanation given OR Incorrect answer, but logical explanation given

O points:  Incorrect answer and incorrect of no explanation given

5.  137.5
2 points:  Exemplary response; correct answer given and correct proportion set up

1 point:  Correct answer, but no or incorrect proportion given OR Incorrect answer, but correct proportion given

0 points:  Incorrect answer and no or incorrect proportion given

6. yes; cross products are equivalent or 24/34 is double 12/17
2 points:  Exemplary response; Correct answer given with logical explanation 


1 point: Correct answer given, but no or incorrect explanation provided


0 points:  Incorrect answer given and no or incorrect explanation provided

7.  16 days
2 points:  Exemplary response; correct answer given and correct proportion set up

1 point:  Correct answer, but no or incorrect proportion given OR Incorrect answer, but correct proportion given

0 points:  Incorrect answer and no or incorrect proportion given

8.  7.2 ft by 9.6 ft
2 points:  Exemplary response; correct answers given and appropriate work shown

1 point:  Correct answer, but no or incorrect work shown OR Incorrect answer, but correct work shown OR 1 correct answer given with appropriate work shown

0 points:  Incorrect answer and no or incorrect work shown

9. d
